IE

Ne
17
E

3

emo

PALR series




PACR Single Stage Dims. PACREEEZSMNEU R ~T [l

. L8
Q =
: ET
3 g T -
o & 1 [ —]1
: I
14| |13 i -
12 S| Tt =
8 .1 [©,
8‘ oC3
6 L5 @DC5r6
B
A =
= =]
_L9 |
L10
Specifications 71§ Unit:mm
R~ Dimensions PACR50 PACR70 PACR90 PACR120
D1 44 62 80 -
D2 M4x0.7P M5x0.8P M6x1.0P -
D3he 12 16 22 -
D4 g6 35 52 68 -
D5 15 20 35 -
D6 M4x0.7P M5x0.8P M8x1.25P -
D7 50 70 90 -
L2 24.5 36 46 -
L3 4 6 7 -
L4 15 15 2.5 -
L5 15 25 32 -
L6 2 2 3 -
L7 8.8 133 14 -
L8 102 143.6 194.5 -
L9 4 4 4.5 -
L10 14 16.5 20.5 -
L11 26.5 36 40.7 -
L12 50 70 98 -
c1? 46 70 90 -
22 M4x0.7P M5x0.8P M6x1.0P -
c3? <8/<11 <14/<19 <19/224 -
c4? 33 44 57 =
C5 % 30 50 70 -
c6° 4 4 6 .
c7? 426 60 90 -
c8? 185 20 26 =
c9? 83 1114 149.2 -
B 4 5 6 -
H 135 18 245 -
* Cl~CORNBIRERZFBIRRRT BIRMEANSERE. * C1~C9 are motor specific dimensions(metric std shown ).
Size may vary according to motor flange.
* RAT RS E M EBIBREETREAEERLTEA. * Specification subject to change without notice.
o
7= SESAME

www.sesamemo

tor.com



PLANETARY GEARHEADS

PACR Double Stage Dims.-1 PACREEZSNEI R~ [E-1

L8
ﬂ‘f L7
907 s j_h
;T
2 8 T I=IL _
alsl L=
- O o)
4 || |L3 ir_i o
L2 N . T —
o ] [e.
8‘ ®C3
L6, L5 @C5r6
TR
ch (a)
T i
L9
L10
Specifications #i1§ Unit:mm
Dimensions PACR50 PACR70 PACR90 PACR120
D1 44 62 80 -
D2 M4x0.7P M5x0.8P M6x1.0P -
D3hs 12 16 22 -
D4 gs 35 52 68 -
D5 15 20 35 -
D6 M4x0.7P M5x0.8P M8x1.25P -
D7 56 70 90 -
L2 245 36 46 -
L3 4 6 7 -
L4 15 15 25 -
L5 15 25 32 -
L6 2 2 3 -
L7 8.8 133 14 -
L8 1269 1743 2355 -
L9 4 4 45 -
L10 14 16.5 205 -
L11 265 36 407 -
L12 50 70 98 -
c1? 46 70 90 -
c2? M4x0.7P M5x0.8P M6x1.0P -
c3? <8/<11 <14/<19 <19/<24 -
ca? 33 44 57 -
€5 % 30 50 70 -
c6° 4 4 6 -
c7? 426 60 90 -
c8? 185 20 26 -
c9? 83 1114 149.2 -
4 5 6 -
H 135 18 245 -

* Cl~CORNHBEFBFERMRT A MAMERNFERE.

* AR EEHH U EHEREETRIBERLTEA.

* C1~C9 are motor specific dimensions(metric std shown ).

Size may vary according to motor flange.

* Specification subject to change without notice.

2~ SESAME

www.sesamemotor.com

218




PACR Double Stage Dims.-2 PACREEZSM IR ~T[El-2

L8
9’ ©
Q <= L7
@ D7 ) 2 —
® S ety
| —
;rn | T - ]
- - [a] el Y e— _
Q| B ——— E -
1 o 9
| = y— r_‘ _
LU/ : | s
L4 L3 = g
L2 3 ®-
"—"r"' !

. L6, L5 8‘ - gc3
L 3
% =

L9
L10
Specifications *E*g Unit:mm
R~ Dimensions PACR70T PACRI0T PACR120T
D1 62 80 108
D2 M5x0.8P M6x1.0P M8x1.25P
D3he 16 22 32
D4 gs 52 68 90
D5 20 35 45
D6 M5x0.8P M8x1.25P M12x1.75P
D7 70 90 120
L2 36 46 60
L3 6 7 7
L4 15 25 2
L5 25 32 40
L6 2 3 5
L7 133 14 15
L8 150.6 190.6 268.1
L9 4 45 6
L10 16.5 205 30
L11 265 36 40.7
c1? 46 70 90
22 M4x0.7P M5x0.8P M6x1.0P
c3? <8/<11 <14/<19 <19/<24
c4? 33 44 57
C5 % 30 50 70
52 4 4 6
c7? 426 60 90
c8? 18.5 20 26
c9? 93 1214 160.2
5 6 10
H 18 245 35

*2. C1~C9 are motor specific dimensions (metric std shown). *2.C1~CO BEARREFEERMR T, FRFTERNBERE.
Sizes may vary according to the motor flange chosen.
* Specification subject to change without notice. * RNEBRHE I EHBREETRAEEALLTEM.

219 | 7= SESAME

www.sesamemotor.com



PLANETARY GEARHEADS

PACR Specifications Table

P Z014 WIRES
#1& Specifications Stage Ratio PACR-50 PACR-70 PACR-90 PACR-120
3 9 28 85 135
4 10 32 80 180
5 11 35 95 215
7 10 28 85 220
1 8 10 32 80 210
9 9 25 75 210
10 11 35 95 210
12 10 32 80 -
14 10 28 85 220
15 11 35 95 -
ik RS PACR-70/ PACR-90/
Stage | Ratio PACR-50 PACR-70T PACR-90T PACR-120T
BEHL B Ton N 20 10 32 80 240
. e Mm
Nominal Output Torque 25 11 35 95 240
30 11 34 90 230
35 11 35 95 240
40 10 32 80 240
50 11 35 95 240
5 60 11 35 95 240
70 11 35 95 240
80 11 35 95 240
100 8 35 95 240
120 11 35 95 240
140 - 28 85 220
200 8 21 65 190
300 8 21 65 190
=& 1% Tanot N 2.5 fFREEH L A%E (2.5 times of Nominal Output Torque)
Emergency Stop Torque cm * EABL % Max. Output Torque T28=60% of Emergency Stop Torque)
BREMAER NN
Nominal Input Speed rpm 1.2 3-300 4500 4000 3000 2500
BRABAEREN,
Max. Input Speedmax rpm 12 3-300 7500 7000 6000 5000
IREER arcmin 1 3-16 <18 <15 <13 <11
Standard Backlash P2 2 20-300 <20 <17 <15 <13
Rt Nem -
Torsional Rigidity /arcmin 12 3-300 15 40 85 7
BFRHEMEA Fargt
Vit et o N 12 3-300 760 1250 2030 4200
ERFEID A F2ap!
Max. Axial Load N 12 3-300 410 700 1200 2600
fEFRE Operating Temp. °C 1,2 3-300 -10°C ~ +90°C
fEFZ=p Service Life hr 1.2 3-300 20,000 (10,000 Z=#H3E# Continuous operation)
B o 1 3-16 > 95%
Efficiency ? 2 20-300 > 90%
] K 1 3-16 11 26 6.5 134
Weight 9 2 20-300 13 32/3.0 87/7.1 151
Z #7518 Mounting Position - 12 3-300 E£&71@ Any Direction
IBE1E Noise Level 2 dBA/Im| 1,2 3-300 66 | 68 | 70 | 73
BhE AR Protection Class - 12 3-300 IP65
%8 Lubrication - 12 3-300 EERUEEHAE Synthetic Lubricant
Inertia (J1)
Stage Ratio unit PACR-50 (¢ 8) PACR-70 (¢ 14) PACR-90 (¢ 19) | PACR-120 (¢ 24)
1 3,4,57 0.07 0.40 20 27
Other ratios 0.05 0.30 15 22
PACR-70 (¢ 14 PACR-90 (¢ 19
S Ratio Kg « cm? PACR-50 (48) | pacR 701 ¢ ) i ACR_%T((‘/Z[) i) | PACR-120T (¢19)
) 20, 25,35 0.07 0.40/0.07 2.30/0.40 22
Other ratios 0.05 0.30/0.05 1.50/0.30 15
* 1. Applied to the output shaft center @100rpm.
* 2. Measured at 3000 rpm with no load. These values are measured by gearbox with ratio = 10 (1-stage) or
ratio = 100 (2-stage) at nominal input speed or 3000 rpm (if nominal input speed is higher than 3000 rpm) with no load.
XThe above figures/specifications are subject to change without prior notice. =
Products due to human error, natural disasters or other factors lead to poor or damaged, will not be covered under warranty. R
=
=
7~ SESAME

| 220
www.sesamemotor.com



